
��������
������������������������ȋ
�����Ȍ���ʹͲͳ͵ǦʹͲͳͶ���������

�������1R�6FKRRO�,Q�VHUYLFH ��������9DOHQWLQHಬV�'D\

���������3UHVLGHQWVಬ�'D\�ದ
�����������7HDFKHU�,Q�6HUYLFH
�����������6FKRRO�&/26('

���������/DERU�'D\�ದ�VFKRRO�
����������&/26('

��������2SHQ�+RXVH

��������*UDQGSDUHQWV��������
������������,FH�&UHDP�6RFLDO

�������3LFWXUH�'D\

�����3DUHQW�7HDFKHU
��������&RQIHUHQFHV�ದ�6FKRRO
��������&/26('

�������6W�3DWULFNಬV�'D\
����

��������3DUHQW�7HDFKHU���
����������&RQIHUHQFHV�ದ�6FKRRO�
����������&/26('

����������)DOO�)HVWLYDO

����������+DOORZHHQ�7ULFN�RU�
������������7UHDW

�������*RRG�)ULGD\����(DVWHU�(JJ
����������+XQW

��������7HGG\�%HDU�3RUWUDLWV

������������(DVWHU�6XQGD\

�����������6FKRRO�&/26('�ದ
��������������7HDFKHU�,Q�VHUYLFH

�� 9HWHUDQV�'D\���,Q
��������������6HUYLFH��6FKRRO�
��������������&/26('

����������7KDQNVJLYLQJ�/XQFK

����� 7KDQNVJLYLQJ�%UHDN�ದ
�������������6FKRRO�&/26('

������������*UDGXDWLRQ

����������0RWKHUಬV�'D\�7HD

�� 0RWKHUಬV�'D\

�������6FKRODVWLF�%RRN�)DLU
��
�� 0HPRULDO�'D\�ದ
�������������6FKRRO�&/26('���

�������3DUHQW�(GXFDWLRQ�1LJKW

������:LQWHUIHVW�(YHQLQJ

��������+ROLGD\�3DUWLHV

���������&ORVH�#��SP

��������&KULVWPDV�'D\�ದ
�����������6FKRRO�&/26('
���������&ORVH�#��SP

���������6XPPHU�.LFN�2II

����������'RQXWV�ZLWK�'DGV

�����������)DWKHUಬV�'D\

��������1HZ�<HDUಬV�'D\��
����������6FKRRO�&/26('
�
����������0�/��.LQJ��'D\

� ,QGHSHQGHQFH��'D\�ದ
�������������6FKRRO�&/26('

$8*867�����
6 0 7 : 7K ) 6

� � �
� � � � � � ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��

)(%58$5<�����
6 0 7 : 7K ) 6

�
� � � � � � �
� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� ��

6(37(0%(5�����
6 0 7 : 7K ) 6

� � � � � � �
� � �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� ��

0$5&+�����
6 0 7 : 7K ) 6

�
� � � � � � �
� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� ��

2&72%(5�����
6 0 7 : 7K ) 6

� � � � �
� � � � �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� ��

$35,/�����
6 0 7 : 7K ) 6

� � � � �
� � � � �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� ��

129(0%(5�����
6 0 7 : 7K ) 6

� �
� � � � � � �
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��

0$<�����
6 0 7 : 7K ) 6

� � �
� � � � � � ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��

'(&(0%(5�����
6 0 7 : 7K ) 6

� � � � � � �
� � �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� ��

-81(�����
6 0 7 : 7K ) 6

� � � � � � �
� � �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� ��

-$18$5<�����
6 0 7 : 7K ) 6

� � � �
� � � � � �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� ��

-8/<�����
6 0 7 : 7K ) 6

� � � � �
� � � � �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� �� �� ��
�� �� �� �� ��


